[image: ]
[image: ]
	Use the comparison to answer the questions

	5426 ÷ 10 = 

542.6 ÷ 10 = 

54.26 ÷ 0.1 = 

8764.5 ÷ 10 = 

876.45 ÷ .01 = 

	650.5 ÷ 10 = 

650.5 ÷ 0.1 = 

2803 ÷ 100 =

28.03 ÷ 0.01 =

5312 ÷ .1 = 

	Find the quotient by comparing without decimals

	
	4527 ÷ 4.5 = 
                             

45   4527





2456 ÷ 30.7 =


307   2456
	86.86 ÷ 202


202   8686





38.43 ÷ 6.3 = 


63   3843




	

	Which one looks about right?



	Circle the estimation that looks correct


	
6532 ÷ 7.1



2842 ÷ 40.6



78.45 ÷ 52.3




	92
920
9200

70
700
7000

150
0.15
1.5
	
36.84 ÷ 3.07



542.7 ÷ 0.67



932.5 ÷ 373
	1.2
120
12

8.1
810
81

25
250
2.5

	
	
	
	
	
	
	
	
	
	
	

	Did you experience any challenges or successes?
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